
Time: 30 Minutes Paper Math 8 (T-1) Total Marks: 25

5th Month, 4th Week, 6th Day Monthy Test (Domain 3,4)

Q.1 Choose the correct option (1×13 = 13) ŠŠŠŠ¥¥¥¥„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) The sum of interior angles of a triangle is: [[[[ÆÆÆÆZZZZ0000++++ggggzzzzããããiiiiZZZZzzzz----VVVVÆÆÆÆùùùù´́́́ƒƒƒƒ@@@@****ììììXXXX
(a) 60° (b) 90° (c) 180° (d) 360°

(ii) If in a right angled triangle ABC, m∠C = 90°, then c is called:

BBBB@@@@****ììììXXXX c ƒƒƒƒÂÂÂÂ m∠C = 90°~~~~ABC ZZZZ¤¤¤¤////ZZZZqqqq----‡‡‡‡''''****îîîî JJJJGGGGZZZZ²²²²ZZZZzzzztttt[[[[

(a) base ‡°{ (b) hypotenuse zF,

(c) perpendicular ÀŠ (d) vertex Ãä
(iii) The sum of the measures of any two sides of a triangle is always

___________ the measure of its third side.

[[[[ÅÅÅÅËËËËÌÌÌÌŠŠŠŠzzzz‚‚‚‚ààààiiii»»»»ùùùù····ååååZZZZkkkkÅÅÅÅŠŠŠŠ~~~~‚‚‚‚ààààÆÆÆÆ''''''''''''ƒƒƒƒ@@@@****ììììXXXX
(a) less than Áƒ** (b) greater than ic*Š{ƒ**
(c) equal to ',Z',ƒ** (d) less than or equal to Ác*',Z',ƒ**
(iv) If in a right angled triangle ABC, m∠C = 90°, and ∠A is base angle, then

b is called: BBBB@@@@****ìììì::::ÂÂÂÂ bƒƒƒƒ∠A ‡‡‡‡°°°°}}}}»»»» m∠C = 90°~~~~ABC ZZZZ¤¤¤¤////ZZZZqqqq----‡‡‡‡''''****îîîî JJJJGGGGZZZZ²²²²ZZZZzzzztttt[[[[

(a) base           ‡°{ (b) hypotenuse zF, (c) perpendicular ÀŠ (d) vertex Ãä
(v) in a right angled triangle the side opposite to the right angle is called:

ZZZZqqqq----‡‡‡‡''''****îîîî JJJJGGGGZZZZ²²²²ZZZZzzzztttt[[[[~~~~‡‡‡‡''''****îîîî JJJJGGGGZZZZ²²²²ZZZZzzzzttttÆÆÆÆZZZZHHHHqqqq####³³³³ƒƒƒƒDDDD÷÷÷÷BBBBDDDD÷÷÷÷::::

(a) perpendicular ÀŠ (b) base ‡°{
(c) hypotenuse zF, (d) right angle ‡'*î JGZ²Zzt
(vi) Every triangle is congruent to: CCCCÙÙÙÙ[[[[§§§§zzzzììììXXXX
(a) congruent §z (b) similar Zq-Ü (c) rotation gzŸ (d) itself pŠ‚�
(vii) An arc whose measure is less than 180° is called a________.

eeee¤¤¤¤////~~~~ÐÐÐÐÁÁÁÁƒƒƒƒ''''''''''''BBBB@@@@****ììììXXXX 180° ZZZZ++++̧̧̧̧kkkkTTTTÅÅÅÅeeeeöööö
(a) minor arc ©à̧k (b) major arc Zȩ̈k

(c) arc length ¸kÅMð (d) sector area ø»gK
(viii) In _______ the size and shape of te figure does not change.

TTTT¡¡¡¡¾¾¾¾ææææ
EEEEYYYY

ÅÅÅÅ‚‚‚‚^̂̂̂,,,,ZZZZzzzzgggĝ̂̂̂pppp~~~~::::ƒƒƒƒ''''''''''''BBBBCCCCììììXXXX
(a) transformation R,Z$i¨é

EEgÂ (b) rotation gzŸ
(c) enlargement ZŸ†™** (d) triangle [

(ix) A straight line that touches a circle at a single point externally is

called: ZZZZ++++¦¦¦¦SSSSÑÑÑÑíííí����ŠŠŠŠZZZZ]]]],,,,}}}}ÆÆÆÆZZZZqqqq----`̀̀̀ÃÃÃÃÛÛÛÛzzzzããããîîîîgggg6666,,,,ggggññññBBBBCCCCìììì::::
(a) chord ÷ (b) tangent ẫk (c) sector ø (d) line segment ÷»•Z
(x) The prependicular distance from base to the apex in a pyramid is

called________. ZZZZCCCCÙÙÙÙZZZZxxxx~~~~‡‡‡‡°°°°}}}}ÐÐÐÐaaaaKKKKJJJJ----ÀÀÀÀááááSSSSZZZZÃÃÃÃ,,,,''''''''''''BBBB@@@@****ììììXXXX
(a) area gK (b) lateral surface area R»gK
(c) slant height of pyramid ZCÙZxÅF,hZz™ð (d) altitude Zz™ð
(xi) The volume of pyramid is always _________ of the prism.

ZZZZCCCCÙÙÙÙZZZZxxxx»»»»wwww6666,,,,iiiixxxxÆÆÆÆåååå''''''''''''''''ƒƒƒƒ@@@@****ììììXXXX
(a) two-third Šzäð (b) one-third Zq-äð
(c) one-fourth Zq-aåð (d) two-fourth Šzaåð
(xii) A point which tells, where to draw an enlargement is called:

ZZZZqqqq----`̀̀̀����CCCC@@@@****ììììZZZZŸŸŸŸ††††¹¹¹¹VVVVHHHHYYYYññññ''''''''''''BBBB@@@@****ììììXXXX
(a) rotation gzŸ (b) centre of rotation gzŸ»%œ/
(c) centre of enlargement ZŸ±»%œ/ (d) transformation R,Z$i¨é

EEgÂ

(xiii)If the objects and figures have exactly the same shaps and size then they

are called. ZZZZ¤¤¤¤////����####ÖÖÖÖZZZZzzzzgggg‚‚‚‚^̂̂̂,,,,ZZZZqqqq----ÜÜÜÜ̂^̂̂ZZZZzzzzgggg‚‚‚‚^̂̂̂,,,,ƒƒƒƒÂÂÂÂZZZZÐÐÐÐëëëë÷÷÷÷XXXX

(a) similar objects Zq-‰Zzw (b) congruent object §zZzw

(c) transformation R,Z$i¨é
EEgÂ (d) rotation gzŸ6

Q.1. Answer the following questions.       (2 × 4 = 8)   ŠŠŠŠgggg̀`̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX

(i) Find the volume of a hexagon based pyramid with base area 23cm2 and

height 8cm. vvvv¢¢¢¢aaaaÆÆÆÆ‚‚‚‚BBBBDDDDkkkk6666,,,,FFFFFFFFwwww¥¥¥¥xxxx™™™™,,,,XXXX 8 %%%%,,,,vvvv¢¢¢¢aaaaZZZZzzzzggggZZZZzzzz™™™™ðððð 23 ‡‡‡‡°°°°}}}}»»»»ggggKKKK
(ii) A spherical tank is of radius 7.7m. How many liters of water can it

contain ¢¢¢¢aaaaììììttttÄÄÄÄßßßß0000****ããããggggÄÄÄÄYYYYìììì???? 7.7 ZZZZqqqq----™™™™zzzz~~~~ffff»»»»ggggŠŠŠŠZZZZkkkk
(iii) Construct a rohombus STUV, when mST = 6cm, and mSU = 9cm.

ƒƒƒƒXXXX mSU = 9cm ZZZZzzzzgggg mST = 6cm ¥¥¥¥¯̄̄̄MMMM²²²² STUV

(vi) If central angle of the sector of circle is 36° and r is 15cm then what will

be the arc length? vvvv¢¢¢¢aaaaììììÂÂÂÂ¸̧̧̧kkkkÅÅÅÅMMMMððððHHHHƒƒƒƒÏÏÏÏ???? 15 ììììZZZZzzzzggggggggŠŠŠŠZZZZkkkk 30 ZZZZ¤¤¤¤////ŠŠŠŠZZZZ]]]],,,,}}}}ÆÆÆÆøøøø»»»»ŠŠŠŠggggxxxxããããiiiiZZZZzzzztttt
Q.4. Construct the following triangles with the help of a ruler and a compass.

eeeeääääZZZZzzzzggggáááákkkkÅÅÅÅææææŠŠŠŠÐÐÐÐŠŠŠŠgggg̀`̀̀ffffssss¢¢¢¢VVVVÃÃÃÃ¯̄̄̄NNNNXXXX
(a) ∆LMN, when mLM = 5.8cm, mLM = 8cm and mNM= 8cm

(b) ∆PQR, when mMQ = 5.7cm, mQR = 3.5cm and m∠Q = 75°
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